450 SXS-F 2007 <2007><EU><8400G1>
IGNITION SYSTEM

Pos Part Number Description Additional Text Quantity
1 77330002100 IGNITION COVER 1.00
2 77330040100 IGNITION COVER GASKET 1.00
3 77339004000 STATOR SX 06 1.00
4 77039005000 FLYWHEEL 05 1.00
5 77339034000 PULSER COIL KOKUSAN "PU5165" 1.00
6 77339031100 CDI UNIT KOKUSAN 450 SXS-F 07 1.00
7 77339035100 ADAPTER PULSER COIL 1.00
8 77339090000 SPARK PLUG 1.00
9 77039093000 SPARK PLUG NGK CR9EKB ‘05 1.00
10 77330002050 WIRE RETAINING BRACKET 1.00

4532



1" 0015050103 HH COLLAR SCREW M 5X10 WS=8 3.00
12 77339032000 WIRING HARNESS FOR CDI-BOX 1.00
13 0015050253 HH COLLAR SCREW M 5X25 WS=8 2.00
14 0770220020 o-ring 22.00X2.00 NBR70 1.00
15 6003009400030 threaded plug M24x1.5 PA 6.6 1.00
16 59039006000 IGNITIONCOIL "IG5128" ONLY FOR SIX DAYS 1.00
29 0402040980 Needle roll.DIN5402 NRB 4X9.8 2.00
30 0015060203 HH COLLAR SCREW M 6X20 WS=8 7.00
33 0912050253 AH SCREW DIN0912-M 5X25 2.00
35 0014060203 HH COLLAR SCREW M 6X20 WS=8 2.00
36 0015060163 HH COLLAR SCREW M 6X16 WS=8 FE, FS 2.00
37 77340097100 RETAINING PLATE F.PICKUPCABEL 1.00
38 0015060163 HH COLLAR SCREW M 6X16 WS=8 FE, FS 1.00




